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1 100kN/m%#BZ5 | 1.00 | 000 ~ 247| 13862 |3m&ERBZB| 000 ~ 094|567 18,56 | 100kN/mM#E#B25 | 1.00 | 1407 ~ 2985 13862 |3mZEHBZ 3| 2000 ~ 29.85| 8.67 18.56
Lo 1.00 | 247 ~ 1025 100.00 | =nLsy | 094 ~ 1025| 3.00 156.16 L 1.00 | 5.00 ~ 14.07 100.00 | =hS | 6,00 ~ 20.00| 3.00 156.16
2 100kN/m#%#BZ5| 1.00 | 000 ~ 327| 152536 |3m&ERBZB| 000 ~ 038|522 16.29 | 100kN/m#%#Z25 | 1.00 | 10.82 ~ 2860 152.36 |3mEBZB| 2500 ~ 2860|322 16.29
L 1.00 | 327 ~ 1105 100.00 | =Sy | 038 ~ 11.05| 3.00 156.16 L 1.00 | 5.00 ~ 1082 100.00 | =hS | 6,00 ~ 2500 | 3.00 156.16
3 100kN/MZ#BZ25 | 1.00 | 0.00 ~ 263 141.85 |3m%E#BRB| 0.00 ~ 085|859 18.14 | 100kN/M%#EZ5 | 1.00 | 1316 ~ 2859 141.35 |3mEBZB| 2000 ~ 2859 | 369 1814
Lo 1.00 | 2.63 ~ 1041 100.00 | =4y | 085 ~ 1041| 3.00 156.16 L 1.00 | 5.00 ~ 1316 100.00 | =hS | 6,00 ~ 20.00| 3.00 156.16
4 100kN/MZ#BZ25 | 1.00 | 0.00 ~ 295 146.77 |3mERBZRB| 000 ~ 072|347 17.54 | 100kN/m#%#Z25 | 1.00 | 1213 ~ 2860 146.77 |3mEBZB| 20.00 ~ 2860 | 3.47 17.54
L 1.00 | 295 ~ 1073 100.00 | =nlsy | 0.72 ~ 1073| 3.00 156.16 L 1.00 | 5.00 ~ 1213 100.00 | =hS | 6,00 ~ 2000 | 3.00 156.16
5 100kN/MZ#BZ25 | 1.00 | 0.00 ~ 288 145.62 |3m%ERBZRB| 0.00 ~ 0.75| 8.50 17.68 | 100kN/m#%#EZ25 | 1.00 | 12535 ~ 2860 145.62 |3mEBZB| 20.00 ~ 2860 | 3.50 17.68
Lo 1.00 | 288 ~ 1066 100.00 | =nlsy | 0.75 ~ 1066| 3.00 156.16 L 1.00 | 5.00 ~ 1235 100.00 | =hS | 6,00 ~ 20.00| 3.00 156.16
6 100kN/M%#BZ25 | 1.00 | 0.00 ~ 289 145.76 |3mERBZRB| 0.00 ~ 0.75| 5.49 17.66 | 100kN/m#%#EZ25 | 1.00 | 1252 ~ 2860 145.76 |3mEBZB| 20.00 ~ 2860 | 349 17.66
Lo 1.00 | 289 ~ 1067 100.00 | =nLlsy | 0.75 ~ 1067| 3.00 156.16 L 1.00 | 5.00 ~ 1232 100.00 | =hS | 6,00 ~ 20.00| 3.00 156.16
7 100kN/m%#BZ5| 1.00 | 000 ~ 267 14197 |3mE#BZ3| 000 ~ 084 | 3.58 18.08 | 100kN/m#Z#EZ25 | 1.00 | 13.05 ~ 2860 141.97 |3mEBZB| 20.00 ~ 2860 | 3.58 18.08
zhnLst 1.00 | 267 ~ 1045 100.00 | TN | 084 ~ 1045|800 15.16 zhnLs 1.00 | 5.00 ~ 1305 100.00| Fhs | 500 ~ 2000| 3.00 156.16
P 100kN/m##8Z5| 1.00| 000 ~ 320 161.10 |3m%ERBZRB| 0.00 ~ 053|833 16.81 | 100kN/m%#EZ 5| 1.00 | 11.23 ~ 2860 151.10 |3m%EBZRB| 2500 ~ 2860 3.33 16.81
zhnLs 1.00 | 320 ~ 1098 100.00 | TnLSY | 063 ~ 1098| 3.00 15.16 zhnLs 1.00 | 500 ~ 1123 100.00| FThs | 500 ~ 2500\ 3.00 156.16
9 100kN/m##8Z%| 1.00 | 000 ~ 236 13676 |3mEBZD| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1053 ~ 2024 136.76 |3mZEiBZ5 -~ — — —
zhLst 1.00 | 236 ~ 1014 100.00 | FTnLSN | 000 ~ 1014|272 13.74 zhnLs 1.00 | 5.00 ~ 1053 100.00| FThs |5.00 ~ 2024|272 13.74
. 100kN/m##8Z2%| 1.00 | 000 ~ 266 141.83 |3mEBZD| — ~ — — — | 100kN/Mi%# 8% 5| 1.00 | 1074 ~ 25.91 141.83 |3m%i#EZ % -~ — — —
zhnList 1.00 | 266 ~ 1044 100.00 | TNLSN | 000 ~ 1044|292 14.74 zhLs 1.00 | 500 ~ 1074 100.00 | #nS | 6,00 ~ 2591|292 14.74
17 100kN/m##BZ%| 1.00 | 000 ~ 243 13793 |3mEBZD| — ~ — — — | 100kN/mi%#B2% | 1.00 | 1092 ~ 24.71 137.93 |3m%Ei#EZ% -~ — — —
zhLst 1.00 | 243 ~ 1021 100.00 | NS | 0.00 ~ 1021|255 12.90 zhnLs 1.00 | 5.00 ~ 1092 100.00 | FThs |5.00 ~ 2471|255 12.90
12 100kN/mM#%#BZ 5% — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 25 — - ~ — —|3mZEEZD -~ — — —
zhLst 1.00 | 0.00 ~ 6.35 79.90 | =nLSY | 0.00 ~ 0.00)| 1.69 853 zhnLs 1.00 | 5.00 ~ 7.52 79.90 | #hs | 5,00 ~ 7.52 | 1.69 8563
P 100kN/mM%#8Z % — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 25 — - ~ — —|3mZEEZD -~ — — —
zhLst 1.00 | 0.00 ~ 6.99 88.62 | #hst | 0oo ~ 000|169 8562 zhLst 1.00 | 5.00 ~ 882 8862 | =ns | 500 ~ 882 1.69 8562
14 100kN/mM#Z#BZ % — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 25 — - ~ — —|3mZEEZD -~ — — —
LS 1.00| 000 ~ 628 78.89 | #FnLst | 000 ~ o0.00| 1.61 813 LS 1.00156.00 ~ 7.75 78.89 | #hSN | 5.00 ~ 7.75| 1.61 813
100kN/mM#%#BZ 5% ~ ImEHEZD ~ 100kN/mM%#8Z % ~ ImEHEZD ~
TS ~ Zh s ~ TS ~ Zh LS ~




